DoBIAK ySR=X-I2 TETE
NE | A2? | ° OATKT; : A(l = /f;o ek BOD TOC ss T-N TP | zUEEE

- ° e (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (71 /me)
HMetse | s N 2,000 5 137.9 60.4 148.4 33.8 3.5 67903.2
= e S e A 2,000 5 145.8 55.0 154.2 28.2 3.8 68322.6
Metse | AbA 800 52l 118.9 42.5 128.5 27.2 2.9 45903.2
Hetse | Hed et 500 5 119.7 34.8 138.5 20.3 2.4 43903.2
Metgss | B A 500 5¢l 123.2 59.0 139.6 27.5 3.0 45225.8
Meter | Aeit o™ 120 58 146.8 72.2 169.0 38.0 3.7 59500.0
Metse | A7 90 5 148.7 42.5 129.6 29.2 3.4 46600.0
= e S e T 85 5& 125.2 59.3 173.6 29.5 3.9 62600.0
Metse | T QA 80 52l 94.2 42.8 120.0 29.0 3.5 39200.0
= e S e S8 80 5& 123.6 46.4 113.0 27.8 2.9 36250.0
MEte2e | & T2354 70 53 127.9 31.9 119.0 29.3 2.8 48500.0
Hetge | & et 70 53 146.4 32.5 98.0 33.1 2.6 33000.0
Metgr | Mt T 70 5 127.9 31.9 119.0 29.3 2.8 48500.0
Metse | e g 60 5¢ 133.0 53.9 132.8 32.0 3.5 37000.0
Metes | Hed =4 40 5¢l 127.1 16.8 104.0 32.4 3.4 33000.0
Metse | e =9 40 5 144.8 39.9 84.0 39.7 3.7 30000.0
Metgr | Mt HEYH 40 5 132.4 22.4 108.0 31.9 4.0 48000.0
MElee | &z 7 35 5 129.8 34.2 108.0 34.8 3.7 43000.0
Mefee | &z Q& 35 53 1451 55.9 80.0 30.8 4.6 36000.0
Metee | Haed = 4o 25 58 132.8 20.8 92.0 36.7 3.5 40000.0
Hefse | g =E 57 53 - - - - - -
Metse | 8= org 50 53 - - - - - -
Metsk | e T2 60 53 - - - - - -
Metse | 8= xS 48 53 - - - - - -
Helsk | 8d 95 45 58 - - - - - -
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oH BOD TOC SS T-N T-P ST oH Hl 1
(mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (7 /me)

7.4 2.7 3.8 2.9 6.1 0.1 26.8 6.8

7.2 3.1 3.9 3.2 10.7 0.1 17.9 6.7

7.1 1.4 4.5 2.1 8.3 0.1 3.4 6.7

7.1 1.4 3.3 1.7 5.0 0.0 2.6 6.8

7.2 1.6 41 2.0 5.4 0.1 2.6 6.8

7.2 4.7 5.0 4.3 14 .1 0.3 17.5 6.8

7.1 3.2 4.0 1.7 9.1 1.1 9.2 6.7

7.4 4.2 5.6 3.4 9.3 0.9 64.4 6.9

7.4 4.0 5.0 2.5 12.5 1.3 21.2 6.9

7.2 41 4.2 2.8 11.1 0.3 13.0 6.7

7.1 3.4 2.9 3.0 11.2 0.1 14.8 6.7

7.2 4.2 4.3 4.2 13.7 0.8 11.3 6.9

71 3.4 2.9 3.0 11.2 0.1 14.8 6.7

7.1 3.9 6.7 4.0 11.8 0.8 15.6 6.8

7.0 4.0 2.0 2.5 7.9 0.8 15.0 6.6

7.1 4.8 6.1 5.0 12.9 1.3 15.0 6.9

7.0 5.1 3.3 3.2 10.7 1.3 35.0 6.5

7.1 4.4 4.9 2.8 8.2 1.2 33.0 6.5

7.5 4.5 8.8 1.0 11.9 1.3 8.0 6.8

7.1 4.2 2.0 3.2 12.3 1.2 15.0 6.8
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